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HETICTREGT 19591 &1 9% 16T 37K 37T Gt Bl :

(i) 39 ¥97-Y7 4 33 Y97 & | @41 97 SIfAart & |

(ii) I8 Fo7-97 i GUS] F [G9115d & - @8 &, @, T, T 09 & |

(iii) @UE & - 97 &I7 1 & 16 TF Fgladhcdid FHR & 97 & | IA% 97 1 b %

8/
(iv) U & - J97 G&I7 17 & 21 TF 37d TG-ITIT PR & 97 & | IIF 97 2 37H]
B8 |
(v) TUE T ¥97 &I 22 T 28 T TY-FRIT JHR & Jo7 & | J9% 97 3 371 HT & |
(vi) TUE T— 37 GE&IT 29 TIT 30 FG-ITENRT J97 & | I 974 37H] FT & |
(vii) U TF— Y97 G&I7 31 T 33 TH-3707 TR & J97 8 | I Jo7 5 3HFH] H1 5 /

(viii) ¥¥7-97 § GHY ey 781 197 37 & | JEi4, U & & 3Hldikh 3~ T4 @Usl &
FT J¥ 4 TaRF ldheyq HT T97 197 T &/

(ix) &7 3 1% gicanea wienfie & g 31emr y97-97 3 |

(x)  degpeicd BT I9FIT Fhedd & |

dusg <h
T97 G&I1 1 @ 16 TF FFIEaHHT JFR & 1 3% & o7 8 | 16 x1=16
1. 19 MnO, i 91 ! 3ufedfd § KOH % 91 ieTd kAT SI1dT &, a1 I8 odl
|
(A) KMnOy B)  K,MnOy,
(C) MnyOr (D) Mn,0Osq
2. s EDTA*~ 3er& 2 -
(A) Teheqt TeliT=s =1
(B) TgaqX Toi=s o
(C) TIEqt foie =1
(D) wEER TS Hl
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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper contains 33 questions. All questions are compulsory.
(11)  This question paper 1s divided into five sections — Section A, B, C, D and E.

(itt) Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

(iv) Section B — questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

(v) Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

(vi) Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

(vit) Section E — questions number 31 to 33 are long answer type questions. Each
question carries 5 marks.

(viit) There 1s no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

(ix) Kindly note that there 1s a separate question paper for Visually Impaired
candidates.

(x) Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark
each. 16x1=16

1.  When MnO, is fused with KOH in air, it gives :
(A) KMnOy (B)  K,MnO,

(C) MD207 (D) anog

2. Ligand EDTA*~ is an example of a :
(A) Monodentate ligand
(B) Didentate ligand
(C) Tridentate ligand
(D)  Polydentate igand
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3. Tr=fafga foree @ @ $H-a1 Ficle G MiHa @ g ?
0 _
A 0
(B) CI
(C) NO;
D) NH;
4. Tefafaa § @ frad sp” goiid e X 8 1Efid 2 2

CH, - X
(B) [:jf

(D) CHz-CH,-X

5. [=fafgd @ 9 -9 9aifees sTAld & 2

CH, - OH

s v OF
OH OH

o () o KT

Cl

OH

I

AT, HI o 919 1T4fshat sieh <dl &
OH

(A) ©/ + Oy —1

I
(B) ©/ o & CH3 = OH
CH,, — OH
(C) ©/ + CHq -1

CH, -1
o QT + CHy - OH

56/2/1-12 4 WAARMAAMAAMAAAAAANAAN,

o
gcollegedunlaa
India’s largest Student Review Platform

S—

™
J




3. Which of the following ligand forms chelate complex ?

(A)  C,0;
(B) CI'
(C)  NOg
(D) NH;

4, Which of the following contains sz hybridised carbon bonded to X ?

CH, - X
(B) @/

(D) CHy-CH,-X

5. Which of the following is most acidic ?

CH, - OH

. €y » OF
OH OH

o (1 o KT

Cl

OH

6. Anisole reacts with HI to give :
OH

(A) ©/ +CHy —1

|

(B) @/ e = CH3 — OH
CH,, — OH

(C) O/ + CHg -1

CH,, -1
(D) @/ + CHy — OH
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7.  TIATA 413 K W g H,S0, % 919 T4 i T ¢dl &
(A)  C,H,0S0,H
(B) C,H.—O-CH,
(C) C,H,—0—C,H,
(D) CH, = CH,
8. Tl gdl o feeraaneft faeie 1 aaeMT$ 39 1 gdi & FagHeh o HaT g
%~dq 4% .
(A) Hqd @

(B) U3ce 99 9 YHTHS o= e9mdr &
(C) U3ce w9 Rurtcwss faue esmian &

(D) T3ce 3w 9 g oo 81 29T 8

o\ [

9. Tt 3ramusiicr faig o el faet=d & 99 29 k1 AU 37949 0-:0225
)

g | TaTsysiiel foer™ =1 Aier-31
(A) 0-80

(B) 0-725

(C) 0-15

(D) 0-0225

10. NaClh el faerH & Ta=a-3T9eeH & g

(A)  HE W H, (g) God Bt @
(B) %¥lg W Na fAftfa grar 2

(C) U W 0, (g) Yo Bl 3
(D) el W Cl, (g) o BIdl &
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7.  Ethanol on heating with conc. H,SO, at 413 K gives :
(A) CoHOSOqH
(B)  CyHy—0O —CHj
(C)  CyHyz—-0 - CyHg
(D) CH, =CH,

8. An azeotropic solution of two liquids has boiling point lower than either

of them when 1t :

(A) 1s saturated
(B) shows positive deviation from Raoult’s law
(C) shows negative deviation from Raoult’s law

(D) shows no deviation from Raoult’s law

9. The relative lowering of vapour pressure of an aqueous solution
containing non-volatile solute 1s 0-:0225. The mole fraction of the

non-volatile solute 1s :

(A) 0-80
(B)  0-725
(C) 015
(D) 0-0225

10. During electrolysis of aqueous solution of NaCl :

(A)  Hy (g) 1s iberated at cathode

(B) Nais formed at cathode
(C) Oy (g)1is liberated at anode

(D)  Cls (g) 1s liberated at cathode
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11.  TERHS AR & S 30 Sie ¥ 31ffshan <kl A faiRad 9t 5 9

foheren! qiafdd sht odT & 2

(A) Tl
(B) HihIU FHall
(C) UMl

(D)  3ATdIEh Sl

12. forelt wrafaes stfufshan P> Q o oW P’ s &9 8H bl &, P’ hl digal giH]
L T, 8 o U H & Al & | P’ o Jfd 9THAT i T 7

(A) 3
(B) 4
(C) 2
(D) 1

YT @& 13 @ 16 & o7, @ %97 20 70 § — G79 v &1 ATYFHIT (A) TAT
gt &1 HWUT (R) GRT SHlfehd 647 47 & | 37 T971 & gl I 14 177 77 &gt
(A), (B), (C) 3% (D) § @ G T |

(A) IAHHIT (A) 3T HRU (R) SHT Tal a8 IR HRU (R), 3R (A) <hi
&l AT hidl & |

(B) AR (A) 3FR &1l (R) gHI T&l &, =g R (R), 311ha (A) hl
gl AT 98l Hhidl 2 |

(C)  ATYhIA (A) T&l 7, q{~q <pIUT (R) TAd 8 |

(D) 3A9HYH (A) TaId 8, 94 Il (R) T&1 2 |
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11. The addition of catalyst during a chemical reaction alters which of the

following quantities of the reaction ?
(A) Enthalpy

(B) Activation energy

(C) Entropy

(D)  Internal energy

12. For the elementary reaction P—Q, the rate of disappearance of ‘P’
increases by a factor of 8 upon doubling the concentration of ‘P’. The

order of the reaction with respect to ‘P’ 1s :

(A) 3
(B) 4
(C) 2
(D) 1

For Questions number 13 to 16, two statements are given — one labelled

as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) 1s true, but Reason (R) 1s false.

(D) Assertion (A) i1s false, but Reason (R) 1s true.
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13. 3YFIY7 (A) : Ufahider TIAWeh UTHHT &1 fam Afgua dfcmEe gvayo g
ERIRSIRETIRR

FRU(R):  Ufcshd aarse ATAHTSE ¥ UTd RUMRE & 919 TSR
YT HLaT 3 |

14. 37497 (A) : DNA T T & AT ial & |

HRT (R) : DNA 9 {deptor shidT 2 |

15. 39397 (A) : Ufdhiesh THHT o SEUSNIH Adul hl ol § UHfesh U
% SEUANIH v 31fereh TR Bd 3 |

HRU(R) :  Ufcihideh UHIMT oh SISUSAIHIH A9 TG G20Id & |

MNNCS O ¢

16.  37/9%HI7 (A) : p-Sicie shl Y& p-ATEZIAH Golcd & & |

ko e, ¥

FRU(R):  p-EUfe= H I9FEAd — NO,, T8 1 IAFA AT 9T

C

3H qeicl &1 o1 <dl 3 |

Wis g

17. T (WMol ge99E = 180 g mol ) T 6% faeram forefl g Freifae uerd

& 2:5% TIT9 & 1Y GHITER 8 | AT hreli-eh Ig1Y i 79 HR Tiehlerd

N

IS 2

18. foret wom wife <hr arfirfsran =1 a1 foomes 1:25x10™° s71 8 | 38 SAfirdes
5g el 25g H Hed H fehadT THI AT 2 2
[ log 2 =0-301, log 3 =0-4771, log 4 = 0-6021 ]
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13. Assertion (A): Aliphatic primary amines can be prepared by Gabriel
phthalimide synthesis.

Reason (R): Alkyl halides undergo nucleophilic substitution with

anion formed by phthalimide.

14. Assertion (A): Uracil base 1s present in DNA.

Reason (R): DNA undergoes self-replication.

15. Assertion (A) : Diazonium salts of aromatic amines are more stable than

those of aliphatic amines.

Reason (R): Diazonium salts of aliphatic amines show resonance.

16. Assertion (A): p-nitroaniline is a weaker base than p-toluidine.

Reason (R): The electron withdrawing effect of — NOy group in

p-nitroaniline makes it a weaker base.

SECTION B

17. A 6% solution of glucose (molar mass = 180 g mol ) is isotonic with 2-5%

solution of an unknown organic substance. Calculate the molecular

weight of the unknown organic substance. 2

18. A first order reaction has a rate constant 1-25 x 10~ s '. How long will

5 g of this reactant take to reduce to 2-5 g ? 2
[ log 2 = 0-301, log 3 =0-4771, log 4 = 0-6021 ]
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19. (%) WAAES ATHeA 1 3 ? A-AAIS 3= shl Jol H Tsh d 8 g
awa & s Ufgeqias SAreher 31fersh g & | i 2 1+1=2

AT

(@) HshHY YTqU hUH TASH o 3= O F1 q@idl & ? 3d-2oft ° fohm aw
hl UM T-UH! TaH &Y 3 ? 1+1=2

20. (%) Afepl o F=laI@d JTa § d HhHA-E1 s e digar & Sy 2
JAMfshaT ST TR == 2

| Br
VAVARE- - VAV4
(@) THIgd 3 & 3cq1g [Ty 1+1=2
CH,CH,
@/ Cl,, , TSI JehreT
>
21. TAfeRad ugi =t ity i 2x1=2
(%) 9IS <RI Tahdientol
(@) A9gd IR
Que T
22. THfRad Afafskamsti & A, B 31 C <hl I=AT fafgue - 2><1é=3
— NaOH + B
(%) CHs-CH,y- Br WL >A - (G)l}; >B bl > C
NO,
@) éj Fe+HCl , , NaNO,+HCl . C,HOH
273 - 278 K
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19. (a) What 1s lanthanoid contraction ? Actinoid contraction i1s greater
from element to element than lanthanoid contraction. Why ? 1+1=2
OR
(b)  Why do transition metals have high enthalpy of atomization ?
Which element of 3d-series has lowest enthalpy of atomization ? 1+1=2
20. (a) In the following pair of compounds, which compound undergoes
Sn2 reaction faster and why ?
| Br
/N or /\/
(b)  Write the major product in the following : 1+1=2
CH,CH,
98 Cl,, UV light
_
21. Define the following terms : 2% 1=2
(a)  Denaturation of protein
(b) Invert sugar
SECTION C
22. Write the structures of A, B and C in the following reactions : 2x1 é =3
KCN OH™ NaOH + Br
CH3-CHy-B A B 2 5 C
(8) 3 2= Bt ’ Partial hydrolysis> ’
NO,
NaNO, + HCI C,H.-OH
(b) @ Fe + HOL | A e * y B —= 9 > C
273 - 278 K
56/2/1-12 13 WPy P.T.O.
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23. THTaRgd ¥ ag iufshar faiau Ix1=3

() aleH-Thea Tq=H
(@) fasmmeifeae stk
(1) kiR 3tfisha

24, T=fARgd & o= & fou tifspanstt & wfteror €S (8 @77) Ix1=3
%)  FAREE d BHE
@) %Ha o dfcdfessss

) U ° 2- AT UH TR

¥) HHFd 9 [Ulsher 370

(
(
(
(

25. fa=fafaa & fow o St Ix1=3

(%) A T sAgeH Muags dqg 3 fe ot a7 wWifes o
gfdeemoe AMThaTsTt H 377 /90 fHesrer 7 |

(@) fufies fusmor gaor sl gar 2 |

()  n-AYA FARTEES I U VAt FATSS Aferes Mgl O Jo1-399ied Bl
STt 8 |

26. 283 K W TohHl Tacimeh @1 a9 /@l 100 mm Hg 8 | 39 a7 faeaq w1 am=

g Uiehiaa shifoe oed 283 K W fohdl et fog[a-sta=ea AB &1 1 Hid

[ o 50 A | a1 & (I8 AF Sifeig fob oot AB quid: Taiferd g1 ST

2) | 3
56/2/1-12 14 PVANMMAAAMMAMAAMAMNAN

o
gcollegedumaa
India’s largest Student Review Platform

-




23. Write the reaction involved in the following : I I=3
(a)  Wolft-Kishner reduction
(b)  Decarboxylation reaction

(c) Cannizzaro reaction

24. Give the equations of reactions for the preparation of : (any three) Ix1=3
(a) Phenol from chlorobenzene
(b) Salicylaldehyde from phenol
(c) 2-Methoxyacetophenone from anisole

(d) Picric acid from phenol

25. (Give reasons for the following : 3% 1=3

(a) Chlorine 1is ortho/para directing 1in electrophilic aromatic

substitution reactions, though chlorine is an electron withdrawing

group.
(b) Racemic mixture is optically inactive.

(c)  Allyl chloride is hydrolysed more readily than n-propyl chloride.

26. The vapour pressure of a solvent at 283 K 1s 100 mm Hg. Calculate the
vapour pressure of a dilute solution containing 1 mole of a strong
electrolyte AB 1in 50 moles of the solvent at 283 K (assuming complete

dissociation of solute AB). 3

56/2/1-12 15 Ty P.T.O.
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27. To=fciRad 9« <1 [9.91. 9 (emf) Uferleta ST - 3

7Zn (s) | Zn2* (0-1 M) || Sn2* (0-001 M) | Sn (s)

%En T % . E%ng““/Zn =—076 V, E%n2+/sn ==014V

[ log 10 = 1]

28. O H 17°C ¥ 27°C T Jlig & W Toret e Afwfshan w1 a1 o9 741 &

a1 2 | 39 IATHTehaT o TIU Aishaur S o1 Uiehald hifolu | 3
[ fean i 2:2:303 R =19-15 JK " mol %, log 3 =048 ]

Lis Y

HETICTIEd J97 d-3TTERT 397 & | B &1 &I-9d% 9IgU 3N 15T 7T F941 & I GaT |

29, HEIERSe GEl T IMURT gH1 H e o fiiu 31aweres gid & | el § &
hl TE 3T IR | TATShISH o &9 § hE@Ege TURY VAT hi WiTd T
d 8 | (U 9 @ I Uifdgssidd Ufceass 31¥yar $idd 8d & |
FTEEISSE] ol IAA-AYIeT H 39 oJggl o JUN T HHAHRISS,
HNATIEHBTZE 3R qTAdHU3E H Fiffehd TohaT T 7 | Tl AHIHRISS ATl
kU BId 8, AU A et ATHhHb adT Bl foaeta & iadlsehd gl ATl & |
T ST A HUSS UeSladdls aidl @ 3T 39eh! 311fUaeh g3 CgH90g T
T | fafy= rfyeREeR! S HI, HoN — OH, S 3, (CH3C0),0 3cTg o
Y ITHAT Hieh FEh! A=HT H Teh Ufcealss THg, Toh TYHe Ucehigilcle
98 (- CHy,OH) 3R =R fgdl¥eh Ueshlgilcld @98 (> CHOH) dUT U |
Ufeegrse THg IUMEUd Bid gU Ml k¥ Ufeearss aqg hl o AU S9
1% gdierur, NaHSOg IS 78l ¢dl 8 | I8 Wb o gl dshid gHIUHICA &I
o IAfedcd sl FHATA 8 NH 19=Tal shddl C — 1 T U gEgiiada g o
fo=mg o gt 2 |
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27. Calculate emf of the following cell : 3
7Zn (s) | Zn2* (0-1 M) || Sn2+ (0-001 M) | Sn (s)

o 0 0
leen . Ezn2+/zn — - 076 V, ESI]2+/SH — - O 14 V
[ log 10 = 1]

28. The rate of a gaseous reaction triples when temperature i1s increased
from 17°C to 27°C. Calculate the energy of activation for this reaction. 3

[Given : 2-303 R = 19-15 JK ~ mol %, log 3 = 0-48]

SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Carbohydrates are essential for life in both plants and animals.
Carbohydrates are used as storage molecules as starch in plants and
oglycogen in animals. Chemically they are polyhydroxy aldehydes or
ketones. On the basis of their behaviour on hydrolysis, carbohydrates are
classified as monosaccharides, oligosaccharides and polysaccharides. All
monosaccharides are reducing sugars, 1.e., they are oxidized by Tollens’
reagent and Fehling’s solution. A monosaccharide like glucose is
aldohexose and 1ts molecular formula was found to be CgH{90g4. After
reacting with different reagents like HI, HoN — OH, Bromine water,
(CH3CO)50, etc. its structure was found to contain one aldehyde group,
one primary alcoholic group, (- CHyOH) and four secondary alcoholic
groups ( > CHOH). Despite having the aldehyde group, glucose does not
give some of the reactions of aldehyde group like Schiff’s test, NaHSOg
addition. This explains the existence of glucose in two cyclic hemiacetal

forms which differ only in the configuration of the hydroxyl group at
C-1.

56/2/1-12 17 PR N AN Iy P.T.O.
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() STYERR U AT BT 8 2 1

(@) T=fIigd bl AHERUES R SRHBUZES H Iifiehd hITT :

SheaeIE, ehid, Taed, Tidaid 1
(M) 39 UiTADRUSS 1 A9 Sase 8 goft e wa1 S 2 | 39 9Tof
& I had 8 ? 2
e PE)

() (1) M o 31 FHEIE] o AH FAEC o Fshid 1 H C — 1 W
— OH 99qg & fa=rm& | &1 19— gidt & |

(ii) THME HI Bry T b @Y AMNHAT fha ThicHs TE hl
3ufeyta sl gfy =wiar 8 ? 2x1=2

30. THAU YAl o IR TLHTY] AYAT IRPH T d-H&h AU B & | ITh
qLATI[3T H 371131k URA d-shetehi ohl IUTEATd HShHUT xal ohl STHSHHU awdl &
3T L Al & | AR €9 F 9RA d-Se&Tehl @ SRV I @ IS ATALATH
U7 GRITd &, 96 3T-eh STFHIHLUT TTEATY, T FARET hl §1 qAT b ThN
o ToT=el o 91y Gpat 90T 371fQ | HhHUT LTqU AT Sk ANk IcUEhI 07 &
ITFSIh Y IR i ST & | HshHUI ITqU 3TTd haX qUT eq ATSuRiel Bidl

g | 3 E o % HMI ! SiT9 qiEd] Jgi germdi & -
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30.

Answer the following questions :
(a) What are reducing sugars ? 1

(b) Classify the following into monosaccharide and disaccharide

Fructose, Sucrose, Lactose, Galactose 1

(c) Name the polysaccharide which is known as ‘animal starch’. Why 1s

it called ‘animal starch’ ? 2
OR
(c) (1) Name the isomers of glucose which in the cyclic form differ

only in the configuration of the — OH group at C — 1.

(1) Presence of which functional group was detected when

glucose reacted with Bry water ? 2x1=2

Transition metals have incomplete d-subshell either in neutral atom or in
their ions. The presence of partly filled d-orbitals in their atoms makes
transition elements different from that of the non-transition elements.
With partly filled d-orbitals, these elements exhibit certain characteristic
properties such as display of a variety of oxidation states, formation of
coloured i1ons and entering into complex formation with a variety of
ligands. The transition metals and their compounds also exhibit catalytic
properties and paramagnetic behaviour. The transition metals are very
hard and have low volatility. An examination of the E§42 M values

shows the varying trends :

56/2/1-12 19 PN A n IO P.T.O.
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0
M2 /M

\Y —1-18
Cr - 091
Mn —1-18
Fe —0-44
Co —0:28
N1 —0-25
Cu + 0-34
/n — 076

[

[FTIRad I94T o 39 ST

() TohE ATYR W BH g Gohd & Tob Cu Teh AU a7 & oliehd Zn &l ?

(GTHTY] ShHTR : Cu = 29, Zn = 30) 1
(@) HshHYT dva SATeETeR0T EEATsT | fafaedr i g9id & 2 1
(M) () dAfeIm @ T ah E;2+/M % AW AMAMA JIfd FT g
2 ?
(ii) EShHYT YTl U STFEIRIU EEAT hl TN AT THSHAVT dwal
61 gREa-adr ¥ fohd YR 3= gidt 2 2 2x1=2
3T

(M) () Cr*" Yed HAUEE® g S« Mn°" Yoo ATdeihieh, € aHl
3 a* ofisfis &, =i 2
(YTHTY] shHTeh : Cr = 24, Mn = 25)

(i) T A TRt qui hIfTT - Ix1=2

21\1’[10; + H20 + 1 >
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E§42+/M
vV —1-18
Cr - 091
Mn —1-18
Fe —0-44
Co —0-28
Ni —0:25
Cu + 0-34
/m - 0-76

Answer the following questions :

(a)

(b)

(c)

(c)

56/2/1-12

On what basis can we say that Cu is a transition element but Zn is

not ? (Atomic number : Cu =29, Zn = 30) 1
Why do transition elements show variety of oxidation states ? 1

(1)  Why do EE/IQ - values show irregular trend from Vanadium

to Zinc ?

(11) How 1s the variability in oxidation states of transition metals

different from that of the non-transition elements ? I x]=2

OR

(i) Of the d* species, Cre is strongly reducing while Mn°* is

strongly oxidizing. Why ? (Atomic number : Cr = 24, Mn = 25)

(1) Complete the following ionic equation : 2x1=2
2MnO, + HoO + I~ >
21 VAVAVAVNAVAVAVNAVAVAVVAVAVAV VAVAVAV N AVAVAVIVAVAVAY P.T_O.
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32. ()

56/2/1-12

dH 9 fohal gier o 39X <ol - 5x1=5

ATHAhT Hepel <hl fshtedd &3 fadred F1 (A) FhE TR IqheThid

gehel <hl TadTed 3Kl (A) ¥ GafYd 3 ?

fA=TTRad det 1 IUPAC 9 TelRgU -
[PtCly(en)y] (NO3g)o

FSTehdT AEY g (VBT) o YR W @%d [Ni(CO),] =hl STt
3T geIehid IR fIlgu |

g5 [Co(NHg)gl [Cr(CN)g] & gRI Tohd YehR <h! THIEIAAT GRIE SATdl
2 ?

forteat &3 fagid & enur 9 forel SumggaiaH Afies § 4% =1 o
sciaeieh fa=ame foifgy afg A, < P &1 | 1 I8 IqEgadsH Ak 3=

JEshUl AYET T T30 T & ?

[Co(NH3)gl?t 3T [Co(NH3),Cly]™ # & & gaidiideh Hpdd & 3N
1 ?

[PtCly(en)o]*t % Jehlf3Ieh HHTE™E] shl BL=HTT SHTST |

i) Tl = sror R
(1)  <hIeHI sl o1 | Ufceargsl ol ATFRehil TEH Bidl & |

(2) UfcegEel o UeHl (o) BISGISH GTHTUST shl Yehld TFeli
gl 8 |

2 2 VATA'A N AVAVAVNATAVAVVAVAVAVVAVAVAVVAVAAVIVAYAVAY
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31. Answer any five of the following :

(a)

(b)
(c)
(d)
(e)
(1)
(g)
32. (a)
56/2/1-12

SECTION E

How 1s the crystal field splitting energy for octahedral complex (A,)

related to that of tetrahedral complex (A;) ?

Write the IUPAC name of the following complex :
[PtClz(eIl)Z] (N03)2

Write the geometry and magnetic behaviour of the complex

[IN1(CO)4] on the basis of Valency Bond Theory (VBT).

What type of isomerism is shown by the complex

[Co(NHj)g] [Cr(CN)gl ?

For the coordination compound on the basis of crystal field theory,
write the electronic configuration for d* ion if A, < P. Is the

coordination compound a high spin or low spin complex ?

Out of [Co(NHg)gl®t and [Co(NH3),Cly]*, which complex is

heteroleptic and why ?

Draw the structures of optical isomers of [PtClz(en)2]2+.

(1) Account for the following :

(1) Oxidation of aldehydes 1s easier as compared to
ketones.

(2) The alpha (o) hydrogen atoms of aldehydes are acidic

1N nature.

23 VAVAYAVNAVAVAVVAVAVAVVAVAVAVVAVAVAV Y AVAVAVIVAVAVAY, P.T_O.
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Gi) Tr=fafea satufsrnet & 3amre fafiau

COCH,q
NaOH/ I,
(1) —e® 4+ ?
COCl1

(2) @ + (CHgy)yCd > ? + CdCl,

(iii) TSk 3TFA 3T VA H TI¥e hid o TOI0 T TETAeh LeqoT

GOF%IE | 2+2+1=5

HYJT

(@) (1) SaAfceaEs & 2,4-SEATSe b ARESH I il =T SAT18Y |

™ I N

(i) Fr=fIigd =1 3l HCN o 9id stfufsrarsfierdn o sed g¢ s
ST Ed HIT :

CH3COCH3 (CHg)3C — COCHj , CH3CHO

(iii) 39 Biqd OTHRRE FSHEEs &1 sgh 3Fd 0 fh IR
YT Tl ?

(iv) drafcegse 3 Y H f9¥e »id & U ot qEmHEe gdeqo

o %

(AU |

(v) Ta=fead stiwisean § gea 3curg ferfigy -

(1) NaBH,
CHy-C-CH, -COOCoHy ———/——> 7
| (1) H
O Hxl=H
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(b)

56/2/1-12

(i1)

(111)

(1)

(i1)

(111)

(1v)

Write the products in the following reactions :

COCH,4

NaOH/ I,
(1) > ? + ?

COCl

(2) @ + (CHg)yCd —> ? + CdCl,

Give a simple chemical test to distinguish between ethanoic
acid and ethanal. 2+2+1=5

OR

Draw structure of the 2,4-dinitrophenylhydrazone of
benzaldehyde.

Arrange the following in increasing order of their reactivity
towards HCN :

CH3COCHj3 (CHg)3C — COCHg , CH3CHO

How can you convert phenyl magnesium bromide to benzoic

acid ?

Give a simple chemical test to distinguish between

benzaldehyde and ethanal.

Write the main product in the following reaction :

(i) NaBH,
CHq-C-CH, -COOCoHy ————/F——> 7
| (1) H
O 5x1=5
25 VAN NAANNNAAVNNAN AN P.T-O.
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(%) (1) 005 M CH;COOH faoi@a =1 Uil 100 A 9 T | Ife

gd o 00354 em™! 2, a1 UHIfew s faoem hi Hier
ARl GNehicTd shifelU |

(i) HUS o faga-3eed &1 yom o fafgr | 1 9 MnO, &I
Mn** ® 319=eH & foiw He o foraw 3mae <t aTergeehar &0l 2
IJ+2=D

HAAT

(@) ()  0-0025 mol L UHifeswh 3101 shl =meiehdl 525 x 10° Sem ™~ 3 |

gfe UHifeshs 3T o fIU AL, 1 4 390 S ecm? mol ! 2,

o O [

3ch! TIAISF ATAT ohl YNeheld shilSU |

(i) i€ 9/ ol & UAIE, hellg 3T gy 37fHfshar falau | 3+2=5

56/2/1-12 26 AAMAMAAAAAMAAAAAARAAN,
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(b)

56/2/1-12

(1)

(i1)

(i1)

The resistance of 0-056 M CH;COOH solution is found to be
100 ohm. If the cell constant 1s 0-0354 cm_l, calculate the

molar conductivity of the acetic acid solution.

State Faraday’s first law of electrolysis. How much charge in

Faraday is required for the reduction of 1 mol of MnO, to

MnZ2* ? 3+2=5

OR

The conductivity of 0-0025 mol L1 acetic acid is

5.25 x 10™° S em ™. Calculate its degree of dissociation if A?n

for acetic acid 1s 390 S cm2 mol_l.

Write anode, cathode and overall reaction of lead storage

battery. 3+2=5
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